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Question Number : 1 Question Id : 953357490027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Assertion (A): It is important to focus on the development of children from infancy to adolescence.

Reason (R): Even though the first few years of life are significant for development, from the point of view of brain plasticity, the whole of
childhood and adolescence is a sensitive period.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 1 Question Id : 953357490027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357490028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about socialization is correct?

Options :

1. Families and schools are major contributors to socialization but there are other agencies such as media and peers who have an important
role.

2. Schools are the primary agency of socialization of children.

3. Media is not a very significant agency of socialization of children.

4. Religious institutions do not play any role in socialization of children.

Question Number : 2 Question Id : 953357490028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357490029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a progressive classroom, stress needs to be placed on creating an atmosphere where

Options :

1. emotional needs of students are taken care of and they feel valued.

2. stress is placed on ‘performance goals’ and achievement in tests directs teacher's perception of students.

3. the teacher leads and children follow passively.

4. students are expected to 'learn for exams'.



Question Number : 3 Question Id : 953357490029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357490030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child is shown a 3D model of three mountains. Another person is looking at the model from a different position. The child is asked to
depict the other person's view of the model but is unable to do so correctly. According to Jean Piaget, this is illustrative of

Options :

1. egocentricism

2. animism

3. object performance

4. Hypothetical thinking

Question Number : 4 Question Id : 953357490030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357490031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jean Piaget proposed that children's thinking is that of adults.

Options :

1. not different from

2. qualitatively different from

3. quantitatively different from

4. quite similar to



Question Number : 5 Question Id : 953357490031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357490032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky referred to the difference between what a child can do on his own and what can be accomplished with some assistance as:
Options :

1. intelligence

2. zone of proximal development

3. scaffolding

4. adaptation

Question Number : 6 Question Id : 953357490032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 7 Question Id : 953357490033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pedagogical strategy of 'Reciprocal teaching' is based on

Options :

1. Behaviouristic principles

2. Socio-cultural approach

3. Information processing theories of learning

4. Howard Gardner's construct of multiple intelligences.

Question Number : 7 Question Id : 953357490033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357490034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Responding to Heinz Dilemma Roohi says, 'stealing the drug is wrong under any circumstance because it is wrong to steal. According to
Lawrence Kohlberg's Theory of Moral Development, Roohi is at

Options :

1. Pre conventional level; Punishment Obedience Orientation
2. Pre conventional level; Personal-reward Orientation

3. Conventional level; Law and Order Orientation

4. Post conventional level; Social-contract Orientation

Question Number : 8 Question Id : 953357490034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357490035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What does 'interpersonal intelligence' in Howard Gardner's theory of Multiple Intelligences mean?

Options :

1. Ability to discriminate complex inner feelings and to use them to guide one's own behaviour.

2. Ability to detect and respond appropriately to the moods, temperaments, motivations and intentions of others.

3. Ability to use the body skillfully for expressive as well as goal-directed purposes.

4. Ability to perceive the visual-spatial world accurately.

Question Number : 9 Question Id : 953357490035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357490036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
National Education Policy 2020 proposes inclusion of and for assessment of children.

Options :

1. group work; self-assessment

2. projects; standard tests

3. standard tests; portfolios

4. norm-referenced; criterion-referenced tests

Question Number : 10 Question Id : 953357490036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357490037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For the purpose of comprehensive assessment, a teacher should:

Options :

1. consider scores based on correct answers on a quiz.

2. consider only the errors made by children.

3. consider outcome as well as process of learning for students.

4. use standardised tests for all students.

Question Number : 11 Question Id : 953357490037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357490038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In many cases, young girls rather than boys are expected to perform household chores and sibling care in the absence of their mothers.
This is an example of

Options :

1. gender stereotype
2. gender equity

3. gender equality
4. gender relevance

Question Number : 12 Question Id : 953357490038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357490039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a characteristic of progressive education?

Options :

1. Focus on continuous and comprehensive evaluation

2. Encouraging rote memorisation

3. Emphasis on collaborative learning

4. Promoting lifelong learning

Question Number : 13 Question Id : 953357490039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357490040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about language and thought is correct from a Vygotskian perspective?

Options :

1. Language facilitates development of higher mental functions.

2. Language hinders development of cognitive faculties.

3. Language does not play any role in cognitive development.

4. Thought occurs independent of language development.

Question Number : 14 Question Id : 953357490040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357490041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A teacher encourages children to talk to their elders and members of community to learn about their heritage.

Choose the set of options that indicate teacher's belief about socialisation and learning.

i) Recognising the importance of knowledge that children gain through community.

i) Understanding that learning takes place in a social context and it is important to connect with it.
iii) Importance of linking school knowledge with local knowledge.

iv) Giving more importance to school knowledge.
Options :

1. (i) only

2. (ii) and (iii) only

3. (1), (ii) and (iii)

4. (1), (ii) (iii) and (iv)

Question Number : 15 Question Id : 953357490041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357490042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Mathematical disorder in context of 'Learning disability' is referred to as

Options :

1. Dyspraxia

2. Dyslexia

3. Dyscalculia

4. Dysgraphia

Question Number : 16 Question Id : 953357490042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357490043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Salma, a 5-year-old girl, started playing the musical instrument Guitar without any outside instruction when she was 3 years old. This
talent would characterizes her as a

Options :

1. slow learner

2. child with low IQ
3. gifted

4. Autistic



Question Number : 17 Question Id : 953357490043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357490044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Hardik has low vision. The teacher has not been informed of his condition. Which of the following actions in class can indicate the teacher
that he has low vision?

Options :

1. Squinting of eyes while reading

2. Standing far away from the blackboard to read it clearly
3. completing worksheets with fine print quickly

4. reading physical maps which have minute details

Question Number : 18 Question Id : 953357490044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357490045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher can create a conducive classroom environment for learners with disability by:

Options :

1. creating strong expectations that they follow rigid curriculum.

2. taking all decisions for them independently without consulting the child.

3. ensuring that they are assessed through standardized assessment parameters.

4. making reasonable and appropriate curricular accommodations.



Question Number : 19 Question Id : 953357490045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357490046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Statement (A): Inclusive education does not include children with 'giftedness'.

Statement (R): Inclusive education functions on ‘deficit’ perspective only.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true but (R) is false.

4. Both (A) and (R) are false.

Question Number : 20 Question Id : 953357490046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357490047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes a metacognitive skill?

Options :



1. Rote memorization of content without engagement

2. Imitating the behaviour of others

3. Thinking about one's own thinking processes

4. Describing the procedure of preparing a particular dish

Question Number : 21 Question Id : 953357490047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357490048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A teacher encourages his/her students to make concept maps after teaching a topic. This would be helpful in

(1). conducting formative assessment.
(i1). testing the capability of students to summarize the main points.
(iii). developing rubrics to evaluate the level of the students.

(iv). testing the artistic ability of students.
Options :

1. (i), (ii) and (iii)

2. (i) and (iv)

3. (ii), (iii) and (iv)

4. (ii) and (iv)

Question Number : 22 Question Id : 953357490048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357490049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Primary school children learn most effectively in an atmosphere where

Options :

1. the teacher is authoritarian and always dictates what should be done.

2. the teacher leads all the learning and students are expected to be passive.

3. where the main stress is on mastery of reading skills and achievement of ‘marks’.

4. Where the socio-emotional needs for the children are taken care of.

Question Number : 23 Question Id : 953357490049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357490050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
is an example of effective classroom practice.
Options :
1. Use of rewards and punishment
2. ‘Competitive’ classroom
3. Comparative evaluation
4. Collaborative learning

Question Number : 24 Question Id : 953357490050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357490051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of intrinsic motivation?

Options :

1. A student is doing an experiment to get good grades

2. A student is doing experiment because he is curious about the result of experiment

3. A student is doing experiment because he does not like theory class

4. A student is doing experiment because he wants to impress his teacher.

Question Number : 25 Question Id : 953357490051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357490052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following scenario exemplifies constructivist pedagogy?

Options :

1. Students listen to the teachers and take notes on the content covered.

2. Students repeat aloud long passages to memorize them.

3. Students learn the material in their text books and take tests covering the content at the end of the year.

4. A teacher presents his students with a contemporary issue, on which they discuss and debate.

Question Number : 26 Question Id : 953357490052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357490053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following attitude is best suited to positive group dynamics within the class room?
Options :

1. Laying down strict external rules prohibiting group interaction.

2. Dividing the class into permanent 'ability based' sub groups for easy functioning.

3. Encouraging all students in class to dialogue and collaborate for problem solving.

4. Encouraging competition between groups to enhance performance.

Question Number : 27 Question Id : 953357490053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357490054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A metaphor of 'Jug and the mug' is often used to depict how traditional education views teacher as a big jug pouring knowledge into the
mind of a student depicted by a smaller mug. This kind of understanding is problematic because:

Options :

1. Students carry valuable experiences with them and learning is constructed with their active participation with teacher & peers.
2. Students are naive and they can't learn anything without the teacher.

3. There is no need of any content or teacher in the process of learning.

4. Learning happens best if children listen to the teacher passively.

Question Number : 28 Question Id : 953357490054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FET FHHT R T T UF FUF YT 61 I 2 ST T T F90a S € o 5 e e e
I RN o T H ST & A 5 FUT [ i SATHRR S 390 T S9eTdl o 39 T ol HE SEEETare #
LY,

Options :

1.
Tereniiart o Teraraut S BT A Safm o fTer S forerer v weeRTe e W o A A e |
=T 2

) = |ieT e 8 37 5 o vk ot waw o fom s #
5 S o st 5 fereft wmft o femerer o e st A6

N Tt F== 7T 1 T FTora =9 o ¥ 1071 7 AT W THR W |uTed Bl



Question Number : 29 Question Id : 953357490055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Errors in children's work:

Options :

1. confirms their intellectual inferiority over others.

2. definitely confirms the lack of preparedness on part of teacher.

3. should be ignored by the teacher to avoid disappointment among children.

4. should be thoroughly analyzed by the teacher and discussed with children.

Question Number : 29 Question Id : 953357490055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=t ¥ e o e afE
Options :

1 T 3 TG A AGF T AT ST 2

, HATEYEE Y 9 f3rees i S F = w5 gwiar 2

STEATUS 1 Fe=AT F TR A F [0, AT AT =11

3.

) ToTeTh ZIT Ut fardeor & ar=et & ferm-fomt st =t

Question Number : 30 Question Id : 953357490056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can enhance critical thinking in middle school students?

Options :

1. Asking students to read the textbook on their own and avoid discussion with peers.

2. Asking students to discuss topics in groups and come up with questions.

3. Presentation by the teacher using lecture method.

4. Giving students homework to write the answers to recall the questions given at the end of the textbook.

Question Number : 30 Question Id : 953357490056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fafofga O ¥ 9 o TTRaT 9TSATHe ST F et § SuTe=mIeaE e R SaYT 5 ST 27
Options :
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Section Id : 95335715286

Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60

Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335727942
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 953357490057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of squares of distinct common prime factors of 120, 210 and 330 is
Options :

1. 34

7. 38

3. 39

4, 46

Question Number : 31 Question Id : 953357490057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

120, 210 371 330 3 T+ A& 2797 UGS % 3T &1 a0 ©

Options :
1. 34

> 38
3. 39
4. 46

Question Number : 32 Question Id : 953357490058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If the 9-digit number 985x 3678y is divisible by 72, then what is the value of (3x + 2y) ?
Options :

1. 16

7. 18

3. 20

4, 24



Question Number : 32 Question Id : 953357490058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T1E 9-7eF1T T 985%3678y, 72 W fawT=T B, 71 (3x-+2y) HTHRTHH 22
Options :
116

2. 18

Question Number : 33 Question Id : 953357490059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The value of
3 2 12 7 1
1-——=—4+-X-
5 3 13 5 3
1 1 1
11—+ 9-x 20—
5 3
is
Options :
x
1. 18
£y
7 16
£
3. 80
£
4. 90

Question Number : 33 Question Id : 953357490059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
3 2012 71

5 3°13 53

T 1

11:+9:X2{)j
Options :

1
1 18

=T T T EY



Question Number : 34 Question Id : 953357490060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

f3.4+2.0254+9.36—3 X (4.1003) = 3—p,

then what is the value of p ?
Options :
1. 0.4741

, 0.4841
3 0.5159
4. 0.5249

Question Number : 34 Question Id : 953357490060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

I 3.4 + 2.025 +9.36 — 3 X (4.1003) = 3—p
2, A p T A R

Options :
1. 0.4741

, 0.484]

Question Number : 35 Question Id : 953357490061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the sum of the cubes of the integers lying between — 5 and 67
Options :

1 120

5 125

3. 210

4 216

Question Number : 35 Question Id : 953357490061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

— 5 3k 6 3 it Fere et 3 7 oy i
Options :

1. 120

Question Number : 36 Question Id : 953357490062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If 0.000001275= k X 1077,

k.
then the value of — is
b=

Options :
1. 1L.55

5 2.55
3 12.75
4 155

Question Number : 36 Question Id : 953357490062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

= k
I1E 0.000001275 =k X 10'7%,?-”— T O 2-
5

Options :
L 1.55

5 255

[o%)
—
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Question Number : 37 Question Id : 953357490063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If x is added to each of the numbers 5, 11, 3 and 8, the number, so obtained in this order, are in proportion.
What is the value of

\f(x—l- 2)(4x—3)7?
Options :

1. 12




4. 30

Question Number : 37 Question Id : 953357490063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e ST WA 5, 11,3 7T 8 F x SST S, A $6 T $H 565 AH ST He 5 #

\/(x + 2)(4x — 3) AT
Options :
112

2. 15
3. 20

4. 30

Question Number : 38 Question Id : 953357490064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An article is marked 25% above its cost price. If a discount of 25% is given on the marked price, then there is a
Options :

2
a loss of5; %
1 o,
a loss oféz %

a gain of 62 %
3. 4

4 NO gain no loss

Question Number : 38 Question Id : 953357490064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tereft v =7 e 3o S Tea 9 25 Y0 <furs W iR fep e 21 afe g o vew iR g w25 % T
T ST A, Al
Options :

sz% e
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T
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Question Number : 39 Question Id : 953357490065 Question Type
Correct Marks : 1 Wrong Marks : 0
|f3x+10 _4 Sx—4

x=1-
then the value of (7x — 8) is
Options :
1.1

!

3. —-15

Question Number : 39 Question Id : 953357490065 Question Type

Correct Marks : 1 Wrong Marks : 0
3x+10 Sx—4
M—— — 4x=1—
2
Options :

1.7 =3

Question Number : 40 Question Id : 953357490066 Question Type
Correct Marks : 1 Wrong Marks : 0

let P=10x*—8y*+5xy,
Q=12xy+ 10y? + 3x?
and R=8y%—3x?+4xy
Then, (P-Q)+R =
Options :
| At 10y* —3xy

, 4x*—10y® —3xy

5 4x* —10y* + 7xy

4 4x?—26y* —1lxy

: MCQ Option Shuffling : Yes Is Question Mandatory : No

: MCQ Option Shuffling : Yes Is Question Mandatory : No

2,41 (7x — 8) FTHF &-

: MCQ Option Shuffling : Yes Is Question Mandatory : No



Question Number : 40 Question Id : 953357490066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

= i

P = 10x" — 8y” + 5xy,

Q= 12xy + 10y” + 3x* qur
R =8y" — 3x% + 4xy Bl

7, (P-Q)R =
Options :

9" o]
| A+ 10y = 3xy

4x% lCr},=2 — 3xy

2.

2 7
5. A" —10y"+ Txy
, 4X-26y-11xy

Question Number : 41 Question Id : 953357490067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ifx = —2,y =3, andz = —3, then what is the value of
yix? + 2y® — 3x%y? + 4xyz ?

Options :

1. —36

7. —54
3. 36
4. o4

Question Number : 41 Question Id : 953357490067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e x = -2, y=3,dqMz=-3 &

}-’2){2 & 2}'3 - 3);3}-'2 + 4xyz =T JE F=40 22
Options :
1. —36

2. =34
3. 36

4. 54



Question Number : 42 Question Id : 953357490068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One of the factors of

(a+b+c)—(a+c—d)>?
s

Options :

1. b+c

) 2at+b+c—d
3 b+d
4 2a—b+2c—d

Question Number : 42 Question Id : 953357490068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(a+b+c)’— (a+e—d)” 1 7% UET 2
Options :
1. b+c

5 2atb+cd
3 b+d
4. 2a-b+2c—d

Question Number : 43 Question Id : 953357490069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If AABC = AFED, then

Options :

1. AB =DE
» BC=FE
3, L=z E
4, LC=LF

Question Number : 43 Question Id : 953357490069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

gz A ABC =AFED 2. &t

Options :
. AB=DE

, BC=FE



3. LB:LE

4. /LC:LF

Question Number : 44 Question Id : 953357490070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

InAABC , £B =90° AC =169 cm, and BC = 120 cm . The length of AB (in cm) is
Options :
1 109

, 121
3 119
4 123

Question Number : 44 Question Id : 953357490070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AABCT, £LB=90", AC = 169cm 3 BC = 120cm £l AB &7 =7%E (cm @) €
Options :
L 109

, 121

5 119

Question Number : 45 Question Id : 953357490071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not true?
Options :
1A right triangle can have at most one line of symmetry

5 A parallelogram has no line of symmetry
3 Acircle has only one line of symmetry

4. Arhombus is symmetrical about its diagonals

Question Number : 45 Question Id : 953357490071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

= T 9 F - T 9 AR 2

Options :



TS HERIT 4 T ST v SR e T A e
U T SIS T S AR 2 T A 2|
e I ST SRS T AT @ B 2

TS AT 10 fareRu o Uit FEfE w2

Question Number : 46 Question Id : 953357490072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

InAABC, 2A = (2x— 5)°,£4B = (bx+5)® and £C = (3x+ 50)°. Side BC is produced to D and CE is the bisector

of ZACD . The measure of ZECD s
Options :
1. 45°

452e
2. 2

3. 44°

44t-
4, 2

Question Number : 46 Question Id : 953357490072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AABCH, £ A=(2x-5)", LB =(5x+5)" 3R £ C=(3x+50) 21 {1 BC 1 D 7 SaT1 Sl & 371 CE, £

ACD T 99/29Ts% 2| Z ECD #1910 2

Options :

<

1. 45

1
45=
2. 2

Question Number : 47 Question Id : 953357490073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ABCD is a trapezium in which AB || DC. The ratio of AB to DCis 2:1, and the distance between AB and DC is 20cm. If the
area of the trapezium is 720cm?, then the length of AB is

Options :

1. 36cm



7. 42 cm
3 48cm

4. 54 cm

Question Number : 47 Question Id : 953357490073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ABCD 7 9= &, T ABIIDC 21 AB 3R DC 71 3717 2:1 & 3% AB ¥ DC ¥ &= 31 ¥ 20cm 21 33

T FT STEA 720cm” % aT AB ﬁm%
Options :
1. 36cm

2 42cm
3. 48cm

4. dcm

Question Number : 48 Question Id : 953357490074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
22
7

[ %]

)

The volume of a right circular cylinder is 7392 cm? and its height is 12 cm. The area (in cm2} of its base is (take T =

Options :
1. 528

5 572
3 616
4 660

Question Number : 48 Question Id : 953357490074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T IRIF S 1 A 7392em”’ 2 S IHH FE 12em 2
aﬁ?%ﬁmw%ﬁm{cmj ﬁ'}%

22

(T =7)?_|”T%|rr,
Options :

| 598

, 572



4 660

Question Number : 49 Question Id : 953357490075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Water is pouring into a cuboidal reservoir at the rate of 1200 litres per minute. The length, breadth and height of the
reservoir are 24 m, 18 m and 10 m respectively. The number of hours, it will take to fill the reservoir, is

Options :

1. 45

2. 50
3. 56
4, 60

Question Number : 49 Question Id : 953357490075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T FRTHTRR T 3 T 1200 Tt wfe e i @ & urdt R v ) e of o, =iers ofi S e 24m,
18m ST 10m & 9 FT 1 9T H e =& T

Options :

| 45

0

N
h

w
h
[=)

Question Number : 50 Question Id : 953357490076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the mean of the range, median and mode of the data given below?
18,7, 5,10, 8,12, 6, 8, 12, 14, 8, 18, 15,9, 6
Options :

1.9

2. 95
3. 10
4 103

Question Number : 50 Question Id : 953357490076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T tienst o foqm, aive, Teash <7 agere o1 1ed #4127

18,7,5,10,8,12,6,8,12,14.8,18,15,9.6
Options :



3. 10

Question Number : 51 Question Id : 953357490077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is the most appropriate strategy for introducing the concept of multiplication of two fractions in
the middle school?

Options :

1. The algorithm should be used to introduce the concept.

7 The process should be visually represented.
3 Multiplication as repeated addition should be emphasised.

4. Multiplication as inverse of division should be emphasised.

Question Number : 51 Question Id : 953357490077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Areatie forera & ot it % o it S i aieE 39 % fom et § | - watts sug ot
¥

Options :

| WU T U 3 3 o0 - TaTe T ST fee S =

1
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| T faa ST =i o6 or, S B g 7 &

) T faam ST e o, fare v afae &

Question Number : 52 Question Id : 953357490078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following would NOT qualify as a higher aim of teaching mathematics?
Options :
L help students understand the basic structure of mathematics

, To enable students to identify relationships

3. To train students in mechanical calculations



4. To enable students to handle abstractions

Question Number : 52 Question Id : 953357490078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Freferftgs o & TT7UTe 57907 3 S==raT 5149 1 UTH 9 7 (9T T8 27

Options :
1 TererTTeit =1 TITOTR ot AT ST il GHer 5 FeradT F|

, Teranfeat =t Ty veme 8 Tt
;. Terenfefan =t =itk ufteree 9 wisTaa o)
) TeraTiefat = 7o eaa 1 FeTerd e H T )

Question Number : 53 Question Id : 953357490079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“School curriculum should teach important mathematics”. What does this statement mean?
Options :
1 Mathematics should be taught to only those students who plan to pursue it in higher classes.

5 Difficult concepts should be omitted for disinterested students.
3. Students should be provided with context which highlights the need for mathematical concepts.

4 The concepts which are tested in year-end examination must be taught in detail.

Question Number : 53 Question Id : 953357490079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“ToITeT T3 T5A o HEwqU] 0T U ST =10 39 FU 7Y 20
Options :
| TTUTE shaeT 3721 T 2aT SRl UGTET ST =2, TSieh] 9ISt 39 ==t HET#l  Ua- i 2|

. ot e o e & arefir 8, 9 o s it 1w B fe s e
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Question Number : 54 Question Id : 953357490080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement from among the following.
Options :



1 Formal proofs are obtained only by inductive reasoning.
5 Hypotheses are always formulated only through deductive logic.
3 Conjectures have no role in construction of mathematical knowledge.

4 Counter-examples are helpful in assessing the validity of generalisations.

Question Number : 54 Question Id : 953357490080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tfefigs o @ &t sy =i wE=)

Options :
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Question Number : 55 Question Id : 953357490081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of mathematical modelling?
Options :
1 Efficient usage of calculating devices.

, Setting up equations for a word problem.
3 Using mathematical 'tricks’ to carry out long calculations

4 Making models of 3-D shapes.

Question Number : 55 Question Id : 953357490081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Treferfiga o & - Tt wiesur w1 3areTr 89
Options :

| R <A BT e & ST R

, T TTeas: Fa 3 o7 weemr s

X T T T A 56 T O Rt T AT AT
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Question Number : 56 Question Id : 953357490082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

For a triangle to be isosceles, which of the following statements is true?
Options :
1 “Two of its angles are equal” is a sufficient but not necessary condition.

5 “Two of its angles are equal” is a necessary but not sufficient condition.
3. “Two of its angles are equal” is both necessary and sufficient condition.

4 “Two of its angles are equal” is neither sufficient nor necessary condition.

Question Number : 56 Question Id : 953357490082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e P % T B o fon frferfige & & wie-an e v

Options :

| TR S TG & TR & g S g 6
, TR &1 I G & ST & T T e T e
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Question Number : 57 Question Id : 953357490083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements.

2

Statement A: If n is even, n” is even.

Statement B: If n? is not even, then n is not even
Which of following statements is correct?
Options :

B is contrapositive of A

—_

> Bisinverse of A
3. Bis converse of A

4. Bisreverse of A

Question Number : 57 Question Id : 953357490083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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4. (B). (A) =T Tawdie (3=en) B

Question Number : 58 Question Id : 953357490084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is frue regarding ‘Geogebra’?
Options :
1. Itis an application of geometry in algebra

5 Itis a branch of mathematics dealing with geometry and algebra
3 It is a specialized topic in geometry

PR is a software used in exploring geometry

Question Number : 58 Question Id : 953357490084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSTET ¥ O § Aeeiad F9A 5 © FIE-6T "a i 2?

Options :

1 T ST BT ST H ST 2]
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Question Number : 59 Question Id : 953357490085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding teaching-learning of mathematics?
Options :
1 Medium of instruction impacts mathematical understanding



, Gender impacts mathematical competency
3 Teacher's belief about learners does not impact mathematical competency

4 Mathematical ability is innate

Question Number : 59 Question Id : 953357490085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T 3 B aifirm 3 ey § et wuE S ¥ REa R R
Options :
| T = AT TS T W TR AT 2

, ST U AT O ST BT 2
5 STEATU T ATETIRwIST o T SR 35 U7 et O s T et 2 2

, T Jree S 2

Question Number : 60 Question Id : 953357490086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dyscalculia is characterized by

a. difficulty in understanding number concepts.

b. lack of an intuitive grasp of numbers.

c. inability to coordinate the verbal and spatial aspects of numbers.
d. inability to recognise alphabets.

Options :

1. aandb

o candd
3 ab,andc

4 aandc

Question Number : 60 Question Id : 953357490086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

%@ET%W (dyscalculia) & fasmeaT 2
a. TEATST il GheUATAl B THD H HSATE
b. TSN F A I UwS T HH
c. WAl F Mg AN T TG T TH=T F T ST
d. ST T GRS § ST

Options :

1. aaﬁTb




2. C3ﬁ-{d
a,hx?-ﬁ'{'c

3.

4. &3ﬁTC

Question Number : 61 Question Id : 953357490087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

X' is a plant which is an autotroph as well as a heterotroph. What could 'X' be
Options :
1 Pitcher plant

2 Algae
3. Cuscuta
4 Fungi

Question Number : 61 Question Id : 953357490087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

<X T UT B | U % wr-ary fFvmest o 2 X Fr e awar 22

Options :

N =quff (fo= urem)
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Question Number : 62 Question Id : 953357490088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2" is a microorganism present in the alimentary canal of human beings and other animals which aids in digestion of
food. What is 7’7
Options :
1. Bacteria
5 Virus

3. Algae

4 Fungi

Question Number : 62 Question Id : 953357490088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
7 TR GEHSTE & ST AT AT S ST F ATE AT F ENA & S RIS 3 YT FETa FAT 8 2
Options :

Question Number : 63 Question Id : 953357490089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

There are many steps involved in making wool from sheep. Which of the following represents the correct sequence of
the steps?

Options :

| Shearing, scouring, sorting, dying, rolling into yarn, weaving

5 Scouring, sorting, shearing, dying, rolling into yarn, weaving,
3. Sorting, scouring, shearing, rolling into yarn, dying, weaving
4 Shearing, scouring, dying, rolling into yarn, sorting, weaving

Question Number : 63 Question Id : 953357490089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357490090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following represents correct matching set of type of joints?

(A) Ball and socket joint (i) Arms and shoulders
(B) Pivotal joint (i) Jaw

(C) Hinge joint (iii) Neck

(D) Fixed joint (iv) Elbow

Options :
1. A-(i), B-(iii), C-(iv), D-(ii)

5 Ad{iii), B-(i), C-(ii), D-{iv)
3. Adii), B-{iii), C-(i), D-(iv)
4 A{iv), B-(i), C-(ii), D-(iii)

Question Number : 64 Question Id : 953357490090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fraferfga o & =9 TSl % Yo & we! faer 92 =i fHefud et 8-
a) FEF-QeTH g |, BT F e

b) ST S 2. ST

c) Ewrse 3. e

d) 7=t S 4, FrEAT
Options :

L a— (i), b—(iii), c — (iv), d — (ii)
, a—(iii), b—(i), ¢ —(ii), d—(iv)
5 a— (i), b—(iii), ¢ — (i), d—(iv)
4 a—(v),b—(i), c—(ii), d (i)

Question Number : 65 Question Id : 953357490091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct?
Options :

1 The unfertilized egg has one chromosome

5 The unfertilized egg has 23 pairs of chromosomes

3 The unfertilized egg has one X’ i.e. sex chromosome

4 The unfertilized egg has 22 chromosomes

Question Number : 65 Question Id : 953357490091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357490092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

X'and 'Y' are elements which are highly reactive with air, hence stored in Kerosene. What could X' and "Y' be?
Options :
1 Phosphorus and Sodium

2 Phosphorus and Sulphur

3. Sodium and Potassium

4 Sulphur and Potassium

Question Number : 66 Question Id : 953357490092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357490093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

X' is a synthetic figure which resembles wool and is used to make shawls and sweaters and blankets. What could ‘X’
he?

Options :

1. Rayon



5 Acrylic
3. Nylon

4 Polyester

Question Number : 67 Question Id : 953357490093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 68 Question Id : 953357490094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following situations, water cannot be used to extinguish fires?
(A) electrical fire

{B) burning of wood

(C) burning of petrol

(D) burning of paper

Options :

1. AandB

> AandC
3 BandD

4 BandC

Question Number : 68 Question Id : 953357490094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e & it Fop wiTRfet 3 ST e 3 o urt Sh swe T R S w2
A Tersrft & =t
B. Sl T ST
C. UZTe =T ST

D. =TS =Rl ST
Options :

| AIRB



, AJRC
; B¥RD
4. B3R C

Question Number : 69 Question Id : 953357490095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A compilation of data on population status of endangered species is
Options :
1. Green data book

> Brown data book
3. Red data book

4. White data book

Question Number : 69 Question Id : 953357490095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357490096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Metal 'P* displaces metal ‘Q’ from its salt solution but is not able to displace metal 'R' from its salt solution. ldentify the
least reactive metal.

Options :

1,

2. Q

4. Cannot be determined

Question Number : 70 Question Id : 953357490096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1. P

2. Q

3. R
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Question Number : 71 Question Id : 953357490097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Shyama is standing 1 m away from a plane mirror and is observing her image. She takes two steps backwards. What
change would she see in her image?

Options :

1. The image increases in size but remains at the same distance from mirror

, The image remains the same size but moves further away from the mirror
3 The image remains the same size but moves closer to the mirror

4 The image increases in size and moves further away from the mirror

Question Number : 71 Question Id : 953357490097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 953357490098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A green cube with side of 0.25 cm, a red cube with side of 0.35 m and a yellow cube having side of 0.5 m are lying on a
flat table. Which of them would exert more pressure on the table given that mass of all cubes is same.
Options :



1. Green cube
> Red cube
3. Yellow cube

4 Allwill exert same pressure

Question Number : 72 Question Id : 953357490098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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5 AT =T
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Question Number : 73 Question Id : 953357490099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify the incorrect statement from the following.
Options :
1. sound can travel through vacuum

5 The higher the frequency of vibration, higher is the pitch
3. All vibratory moetions are oscillations

4 Sound in a flute is produced by the vibrating air-column

Question Number : 73 Question Id : 953357490099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357490100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following sets comprises liquids which are good conductors of electricity?
Options :
1. Lemon juice, vegetable oil, tap water

, Distilled water, shampoo, vinegar
3. Lemon juice, vinegar, tap water

4 Shampoo, vegetable oil, lemon juice

Question Number : 74 Question Id : 953357490100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 953357490101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following sets comprises physical changes?
Options :
1. Shredding of paper, baking a cake, bursting of crackers

7 Boiling of water, cooking of food, rusting of iron
3 Burning of paper, setting of milk into curd, breaking a glass

4 Breaking of glass, grinding wheat, boiling of water

Question Number : 75 Question Id : 953357490101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357490102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Reva is driving From her office to her home. Which is 22km away. She travels at a speed of 48km per hour for 10
minutes. She stops for 15 minutes at a market to buy some items. She resumes her journey at a speed of 56 km per
hour. What is her average speed for the entire journey?

Options :

1 33km/hr

5 4dkm/hr
3 S0km/hr

4, 2 km/hr

Question Number : 76 Question Id : 953357490102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 33 km/h
5 44 km/h
3 50 km/h
4. 52 km/h

Question Number : 77 Question Id : 953357490103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following will not be helpful in the process of separating a mixture of chalk and water?
Options :
1. Filtration

> Decantation

3. Sedimentation



4. Sublimation

Question Number : 77 Question Id : 953357490103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 78 Question Id : 953357490104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Given below are a few statements about the phenomenon of shadow formation of an object. Identify the correct
statements.

(A) Size of shadow depends upon the distance between light source and the object.

(B) Position of shadow depends upon the direction of incident light.

(C) The colour of shadow depends upon the colour of object

(D) Shadow formation can be explained on the same concept as image-formation

Options :

1. AandB

> BandC
3 CandD

4 AandD

Question Number : 78 Question Id : 953357490104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357490105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement from among the following
Options :
1 The percolation rate of water in clayey soil is higher than that of loamy soil

5 The percolation rate of water in loamy soil is higher than that of sandy soil
3 The percolation rate of water in clayey soil is same as that of sandy soil

4 The percolation rate of water in sandy soil is higher than that of clayey soil

Question Number : 79 Question Id : 953357490105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 80 Question Id : 953357490106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

X’ is a vitamin which is fat soluble and helps in keeping skin and eye healthy. Y’ represents food items rich in this
vitamin. Identify ‘X" and 'Y’
Options :
1 Vitamin D, Milk products
5 Vitamin A, Citrus fruits

3. Vitamin D, Citrus fruits

4 Vitamin A, Yellow fruits

Question Number : 80 Question Id : 953357490106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357490107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements best describes nature of science?
Options :
1 Science is about appreciation of nature

5 Science is an individual pursuit
3 Science is value-free and objective to the core

4. Science is a social endeavour

Question Number : 81 Question Id : 953357490107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357490108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the need for having a historically valid science curriculum?

{a) It helps understand how social factors influence the development of science.

{b) It helps the learner to view science as infallible.

(c) It helps learners appreciate how the concepts of science evolve with time.

(d) It helps to highlight the achievement of western countries in science.



Options :
1. (@) and (b)

, Only (d)
3. Only (b)

4 (a)and(c)

Question Number : 82 Question Id : 953357490108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357490109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to NCF 2005, the pedagogic practices recommended at the upper primary stage are

(a) group discussion

(b) designing simple investigations

(c) verification of the theoretical principles

Options :

1 (@) and (c)

2 (b) and (c)
3 (a) and (b)

4 only (c)

Question Number : 83 Question Id : 953357490109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. &3ﬁTC
2. baﬁ'(c
3. aaﬁtb

4. hdel C

Question Number : 84 Question Id : 953357490110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

From the following statements about science, identify the one that is false.
Options :
1. Scientific ideas are tentative.

5 Technology has preceded science in the history of civilization.
3. The scientific method is the only guide for conducting research.

4 In science self-examination and skepticism is important.

Question Number : 84 Question Id : 953357490110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357490111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ashu was given individual task of measuring the body temperatures of at least five classmates. Following are the task
specific indicators to assess Ashu.

|dentify the undesirable indicator.
Options :



1 Washes and wipes thermometer before use
5 Jerks the thermometer to bring the level of mercury below 35°c.
3 Draws conclusion that temperature of every person is exactly 37° ¢

4 Show curiosity in finding information on how to measure temperature in dogs.

Question Number : 85 Question Id : 953357490111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357490112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A science teacher with in a constructivist framework would be in agreement to all of the following, except
Options :
1 Learners’ intuitive ideas always correspond with scientific knowledge.

5 Learners come from diverse backgrounds and their perceptions and beliefs vary.
3 Learners’ ideas that they bring to classrooms are important.

4 Learners’ ideas are resistant to change by conventional teaching-learning.

Question Number : 86 Question Id : 953357490112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357490113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To make your science classes more gender inclusive you may do all of the following, except
Options :
1 Challenging stereotypes

7 Selecting activities that emphasize co-operation and caring
3 Teaching students to recognize gender inequalities

4. Encouraging girls to be more competitive that boys.

Question Number : 87 Question Id : 953357490113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357490114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher brought into her classroom% kg flour, some warm water, sugar and yeast and asked following questions,
ldentify the questions that are divergent.

a) What do you think | am going to do with all these things?

b) Will sugar dissolve easily in warm water?

c) Will yeast dissolve in water?

d) Name some of the eatables that are baked?

Options :
1. aandb
> bandc

3 aandc

4 bandc

Question Number : 88 Question Id : 953357490114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1. &3ﬁTd
, bard
3. &3ﬁTC
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Question Number : 89 Question Id : 953357490115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The advantages of conducting field trips over using educational software is that
(a) it involves all the senses.

(b) it can cater to large groups.

(c) it can be arranged easily and quickly.

(d) it gives individual attention.

Options :

1 aandb

5 candd

3 a,bandc

4.a,bandd

Question Number : 89 Question Id : 953357490115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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a,baﬁ'{'c

3.
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Question Number : 90 Question Id : 953357490116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What will be the sequence of your lesson planning using inquiry approach?

{(a) Provide plenty of time for discussions before presenting the scientific terms
(b) Stimulate students interest

{c) Give opportunity for applications of the concepts and principles

Options :

| abc

5 Gb,a
3. c,a b

4 b,a,c

Question Number : 90 Question Id : 953357490116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. a—b—¢
2., c?b—a
3 c—>a—b
4 b2a—c
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Question Id : 953357490117 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension

Read the passage given below and answer the questions/ complete the
statements that follow with the help of given options.

Our giant water tower was home fo some big and menacing honey free colonies.
We made all efforts to get rid of them for the safety of the human residents of
the colony.

Honey collectors were invited but were only able to destroy a few hives.
Actually they never wished to get rid of all the honey trees honey was their
livelihood. Whenever we saw the honey collectors in their loin- dhoti, jute
ropes, leaf baskets and flaming torches, the children would run home for fear of
the bees and hail the honey collectors for their bravery from our balconies. For
me as a kid bees did not belong to the urban environment.

Decades later, a thousand kilometres from the water tank, I accompanied honey
collectors deep into the forest to study their harvesting technique. They carned
battery lights, ropes and bee suits. Climbing up the trees, protected by the bee
suit, the collectors sef to the task — they extracted the honev chamber leaving the
hive infact. A few days before the extraction, they had inspected the hives to
select those that looked full or healthy — ensunng that honey extraction does not
damage the hives. This sustinable harvest ensured that the bees were not
destroved and the collectors retained their livelihood. For the biologist the bees
belonged to the wilderness.

In between the water tower and the forest lie our gardens and fruit orchards.
Here both humans and bees meet more infimately. Here our relationship with
bees 1s give and @ke. They pollinate our flowers and help our fruit trees to get
laden wath fruit.

Sub questions

Question Number : 91 Question Id : 953357490118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The writer of this article is a

1. Biologist

2. Photographer
3. Honey collector
4. Bee keeper
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357490119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The topic discussed herein is :
1. Fear of bees
2. Honey exfraction

3. Bee keeping

4. Safety from bees
Options :
1.1
2.2

3.3



4.4

Question Number : 93 Question Id : 953357490120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :
a. Honey collectors cheated the residents of the colony.
h. Safety of the colony residents was completely
ensured.
€. Hailing the honey collectors by the residents was
misplaced.

(a) is right and (b) is wrong .
(b) is right and (a) is wrong .
(b) is right and (c) is wrong .
4. (c) isright and (a) is wrong .

W

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357490121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the forest. the honey collectors

help pollinate the flowers.

carry flaming torches to distract the bees.
don’t have to climb the trees.

collect more honey.

W

b

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357490122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :

(a) The trees are treated as a menace in the cities.

(b)Man derives a double benefit from the bees.

. (a) is right and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

L R

&

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357490123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



*Only able to destroy a few hives’ the word opposite in
meaning to ‘destroy’ is :

Enjoy
Enlarge
Build
Occupy

W

&

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357490124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

And ‘smouldering torches’ the word ‘smouldering” here

means

glowing
burning
bright
shining

w1

B

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357490125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This sustainable harvest ensured that the bees were not
destroyed.
The underlined clause is :
1. Principal
2. Noun
3. Adjective
4. Adverb
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357490126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
‘those that looked full” the underlined word is a/an :
1. Adjective
Adverb
. Pronoun
Preposition

Wl

&

Options :
1.1
2.2
3.3
4.4



Question Id : 953357490117 Question Type : COMPREHENSION Sub Question Shuffling Allowed
Questions : No

Question Numbers : (91 to 99)
Question Label : Comprehension

Read the passage given below and answer the questions/ complete the
statements that follow with the help of given options.

Our giant water tower was home fo some big and menacing honey free colonies.
We made all efforts to get rid of them for the safety of the human residents of
the colony.

Honey collectors were invited but were only able to destroy a few hives.
Actually they never wished to get rid of all the honey trees honey was their
livelihood. Whenever we saw the honey collectors in their loin- dhoti, jute
ropes, leaf baskets and flaming torches, the children would run home for fear of
the bees and hail the honey collectors for their bravery from our balconies. For
me as a kid bees did not belong to the urban environment.

Decades later, a thousand kilometres from the water tank, I accompanied honey
collectors deep into the forest to study their harvesting technique. They carned
battery lights_ ropes and bee suits. Climbing up the trees, protected by the bee
suit, the collectors sef to the task — they extracted the honev chamber leaving the
hive infact. A few days before the extraction, they had inspected the hives to
select those that looked full or healthy — ensunng that honey extraction does not
damage the hives. This sust@ainable harvest ensured that the bees were not
destroved and the collectors retained their livelihood. For the biologist the bees
belonged to the wilderness.

In between the water tower and the forest lie our gardens and fruit orchards.
Here both humans and bees meet more intimately. Here our relationship with
bees is give and take. They pollinate our flowers and help our fruit trees to get
laden with fruit.

Sub questions

: Yes Group Comprehension

Question Number : 91 Question Id : 953357490118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The writer of this article is a
1. Biologist

2. Photographer
3. Honey collector
4. Bee keeper
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357490119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The topic discussed herein is :
1. Fear of bees
2. Honey exfraction

3. Bee keeping

4. Safety from bees
Options :
1.1
2.2
3.3

4.4



Question Number : 93 Question Id : 953357490120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :
a. Honey collectors cheated the residents of the colony.
b. Safety of the colony residents was completely
ensured.
c. Hailing the honey collectors by the residents was
misplaced.

(a) is right and (b) is wrong .
(b) is right and (a) is wrong .
(b) is right and (c) is wrong .
4. (c) isright and (a) is wrong .

N =

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357490121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the forest. the honeyv collectors

help pollinate the flowers.

carry flaming torches to distract the bees.
don’t have to climb the trees.

collect more honey.

W

o

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357490122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :

(a) The trees are treated as a menace in the cities.

(b)Man derives a double benefit from the bees.

. (a) is right and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

L b

4. Both (a) and (b) are wrong
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357490123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



*Only able to destroy a few hives’ the word opposite in
meaning to ‘destroy’ is :

Enjoy
Enlarge
Build
Occupy

W

&

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357490124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

And ‘smouldering torches’ the word ‘smouldering” here

means

glowing
burning
bright
shining

w1

B

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357490125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This sustainable harvest ensured that the bees were not
destroyed.
The underlined clause is :
1. Principal
2. Noun
3. Adjective
4. Adverb
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357490126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
‘those that looked full” the underlined word is a/an :
1. Adjective
Adverb
. Pronoun
Preposition

Wl

&

Options :
1.1
2.2
3.3
4.4



Sub-Section Number : 2
Sub-Section Id : 95335727944
Question Shuffling Allowed : Yes

Question Id : 953357490127 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the stanza given below and answer the questions/ complete the
statements that follow with the help of given options.

Fail I alone , in words and deeds ?

Why, all men strive and who succeeds ?
We rode, it seemed my spirit flew,

Saw other regions, cities new,

As the world rushed by on either side.

I thought — All labour. vet no less

Bear up beneath their unsuccess.

Look at the end of work , contrast

The petty done, the undone vast,

This present of theirs with the hopeful past !
I hoped she would love me, here we ride.

Sub questions

Question Number : 100 Question Id : 953357490128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poet here is talking like a/an
1. optimist
2. pessimist
3. realist

indifferent person

b

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357490129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In lines 3-5 the lover is
1. worried about his “unsuccess’.
2. trving to forget his loss in love.
3. enjoving his present.
4. confused by the scene around.

Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 953357490130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following statements :
(a) All those who are hopeful achieve success at the end.
(b)Everyone makes an attempt but very few succeed.

. (a) is right and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

S

P

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357490131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

The poet fell in love and succeeded.
His beloved did not like his looks.
The poet did not propose properly.

. She had a soft heart.

Options :

1.1

2.2

3.3

4.4

W

.

Question Number : 104 Question Id : 953357490132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘It seemed my spirit flew.” The figure of speech used in the
expression is :

Simile
Imagery
Metaphor
4. Hyperbole

b=

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357490133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

*As the world rushed by on either side’ the figure of speech
used in the expression is :

Simile
Metaphor
Personification
Hyperbole

W

g

Options :
1.1
2.2



3.3
4.4

Question Id : 953357490127 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension

Read the stanza given below and answer the questions/ complete the
statements that follow with the help of given options.

Fail I alone , in words and deeds ?

Why. all men strive and who succeeds ?
We rode, it seemed my spirit flew,

Saw other regions, cities new,

As the world rushed by on either side.

I thought — All labour, vet no less

Bear up beneath their unsuccess.

Look at the end of work , confrast

The petty done, the undone vast,

This present of theirs with the hopeful past !
I hoped she would love me, here we ride.

Sub questions

Question Number : 100 Question Id : 953357490128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The poet here is talking like a/an
1. optimist
2. pessimist
3. realist

indifferent person

b

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357490129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In lines 3-5 the lover is

worried about his “unsuccess’.

2. trying to forget his loss in love.

3. enjoving his present.

4. confused by the scene around.

—

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357490130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following statements :
(a) All those who are hopeful achieve success at the end.
(b)Everyone makes an attempt but very few succeed.

. (a) is right and (b) is wrong
. (b) is right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

S

P

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 953357490131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the correct statement.

The poet fell in love and succeeded.
His beloved did not like his looks.
The poet did not propose properly.

. She had a soft heart.

Options :

1.1

2.2

3.3

4.4

W

.

Question Number : 104 Question Id : 953357490132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘It seemed my spirit flew.” The figure of speech used in the
expression is :

I. Simile
2. Imagery
3. Metaphor
Hyperbole

P

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357490133 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

*As the world rushed by on either side’ the figure of speech
used in the expression is :

Simile
Metaphor
Personification
Hyperbole

W

g

Options :
1.1
2.2



3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335727945
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357490134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is ‘mother tongue based multilingualism™?
1. Learners begin their schooling in their mother tongue and move on to add at least two more languages.

2. Learners learn their mother tongue, state language, Hindi and Sanskrit.

3. Learners begin their schooling in their state language and add English, Hindi and a foreign language.
4. Learners begin their schooling in English medium and add the state language, Hindi and English
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357490134 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is ‘mother tongue based multilingualism®?
1. Learners begin their schooling in their mother tongue and move on to add at least two more languages.

2. Learners learn their mother tongue, state language, Hindi and Sanskrit.

3. Learners begin their schooling in their state language and add English, Hindi and a foreign language.
4. Learners begin their schooling in English medium and add the state language, Hindi and English
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357490135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is this activity known as?
Students are divided into groups of four and each one is assigned a character in a family situation and supplied
with some language chunks. They converse for the situation in their groups and the teacher later picks up each
character from some group and asks them to converse as a group to the whole class.
1. Dramatics
2. Speaking activity

3. Role play
4. Language generating activity
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357490135 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What is this activity known as?
Students are divided into groups of four and each one is assigned a character in a family situation and supplied
with some language chunks. They converse for the situation in their groups and the teacher later picks up each
character from some group and asks them to converse as a group to the whole class.
1. Dramatics

2. Speaking activity

3. Role play
4. Language generating activity
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357490136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Input rich environment’ refers to....

making the language seen. noticed and used by learners.

2. input in the training given to learners.
3. making the language teacher to use the language in the classroom.
4, textbooks and other materials

Options :

1.1

2.2

3.3

4.4

Question Number : 108 Question Id : 953357490136 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Input rich environment’ refers to....
1. making the language seen, noticed and used by learners.
2. input in the training given to learners.
3. making the language teacher to use the language in the classroom.

textbooks and other materials

i

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357490137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are essential for learners in a classroom to start using language for different purposes?
. Language inputs and interaction

2. Grammar teaching.

[¥5]

Vocabulary

=

Narratives and poetry

Options :
1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 953357490137 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are essential for learners in a classroom to start using language for different purposes?
1. Language inputs and interaction
2. Grammar teaching.

3. Vocabulary
4. Narratives and poetry
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357490138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher makes groups of four learners and asks them to read and make a summary of the text/story. When students are
working in groups she is helping them as and when required by the groups, later she asks the groups to present it to the
whole class. What could this be described as?

Group work
2. Scaffolding
3. Whole classroom discussion in groups.
4. Communicative language teaching
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357490138 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher makes groups of four learners and asks them to read and make a summary of the text/story. When students are
working in groups she is helping them as and when required by the groups, later she asks the groups to present it to the
whole class. What could this be described as?

Group work
2. Scaffolding
3. Whole classroom discussion in groups.
4. Communicative language teaching
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357490139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Infering meaning” is

L. to deduce meaning based on evidence and reasoning.

2. to understand what is being implied and understood.
3. to find out the meanings of words.
4. to write a summary of the text.

Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 953357490139 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Infering meaning’ is

L. to deduce meaning based on evidence and reasoning.

2. to understand what is being implied and understood.
3. to find out the meanings of words.
4. to write a summary of the text.

Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 953357490140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Semantic cue’ in reading is

1. the meaning of a word.

2. the prompt for identifving the grammatical item.
3. the prompt that supports the meaning-making process.
4. the prompt for the correct pronunciation of the word.
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357490140 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Semantic cue’ in reading is

1. the meaning of a word.

t

the prompt for identifying the grammatical item.

L8]

the prompt that supports the meaning-making process.

=

the prompt for the correct pronunciation of the word.

Options :
1.1



2.2
3.3
4.4

Question Number : 113 Question Id : 953357490141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Here is a conversation between two persons. Read it carefully and find out the purpose of the interaction.
Person 1: Hello! How are you? Glad that vou have come back. .
Person 2: Hello! How are vou? I am doing well. What about yvou?
Person 1: Iam fine. How is vour health now?
Person 2: Improving. I am able to work now.

—

Personal communication

]

Informative purpose
3. Transactional purpose

i

Interactional purpose
Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 953357490141 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Here is a conversation between two persons. Read it carefully and find out the purpose of the interaction.
Person 1: Hello! How are you? Glad that you have come back. .
Person 2: Hello! How are vou? I am doing well. What about you?
Person 1: Tam fine. How is your health now?

Person 2: Improving. I am able to work now.

Personal communication

—

)

Informative purpose
3. Transactional purpose

i

Interactional purpose
Options :

1.1

2.2

3.3

4.4

Question Number : 114 Question Id : 953357490142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are ‘Form oriented language inputs’ for language learning?

Inputs which focus on information.

b

Learners receive vocabulary, prominciation and grammar.

| F¥]

Learning to use language for meaning conveyed in the inputs.

P

Potential of the input for learning writing.

Options :



1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357490142 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are ‘Form oriented language inputs’ for language learning?
Inputs which focus on information.

2. Learners receive vocabulary, prominciation and grammar.
3. Learning to use language for meaning conveyed in the inputs.
4. Potential of the input for learning writing.

Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 953357490143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The new structure of school education in the National Education Policy 2020 recommends

l. 5 vears primary + 3 years upper primary +2 years secondary +2 years senior secondary

I

2 years pre primary + 5 years primary + 3 years upper primary + 4 years secondary

3. 5 years Foundational +3 vears primary +3 vears middle + 4 vears secondary
4. | year pre primary + 5 years primary + 3 years middle + 2 years secondary + 2 years senior secondary.
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357490143 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The new structure of school education in the National Education Policy 2020 recommends
5 years primary + 3 years upper primary +2 years secondary +2 years senior secondary

2 years pre primary + 5 years primary + 3 years upper primary + 4 years secondary

t

3. 5 vears Foundational +3 vears primary +3 years middle + 4 vears secondary
4. 1 year pre primary + 5 years primary + 3 years middle + 2 years secondary + 2 years senior secondary.
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357490144 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Language curriculum aims *To develop control over different registers’. What does this mean?

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357490144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Bow

Learners comprehend and use language suitable to the content of different subjects.
Learners understand texts in science and social sciences.
Learners use language for day-to-day communicative purposes and functions.

Learning the language registers in different languages.

Correct Marks : 1 Wrong Marks : 0
Language curriculum aims *To develop control over different registers’. What does this mean?

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357490145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

b2

i DA

Learners comprehend and use language suitable to the content of different subjects.
Learners understand texts in science and social sciences.
Learners use language for day-to-day communicative purposes and functions.

Learning the language registers in different languages.

Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT advocated as a goal of developing reading among learners?

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357490145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

L.

-

oW

Drawing inferences while reading a text.
Relating the text with one’s previous knowledge.
Mere decoding of the text.

Make meaning of words, language chunks.

Correct Marks : 1 Wrong Marks : 0
Which one of the following is NOT advocated as a goal of developing reading among learners?

Options :
1.1
2.2
3.3
4.4

L.

-~

oW

Drawing inferences while reading a text.
Relating the text with one’s previous knowledge.
Mere decoding of the text.

Make meaning of words, language chunks.

No

No



Question Number : 118 Question Id : 953357490146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which two of the following are bottom-up strategies in listening skills?
a. Recognize word and clause divisions.
b. Use key words to construct schema of the discourse.

Infer the setting for a text.

=

Retain input while it is being processed.

1. ¢ and d are bottom-up strategies

b3

a and d are bottom-up strategies

L#¥]

b and ¢ are bottom-up strategies.

4. aand b are bottom-up strategies
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357490146 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which two of the following are bottom-up strategies in listening skills?
a. Recognize word and clause divisions.
b. Use key words to construct schema of the discourse.

c. Infer the setting for a text.

P

Retain input while it is being processed.

1. ¢ and d are bottom-up strategies

2. aand d are bottom-up strategies
3. band c are bottom-up strategies.
4. aand b are bottom-up strategies

Options :

1.1

2.2

3.3

4.4

Question Number : 119 Question Id : 953357490147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meena is able to recognize the word "envisage’ in a text or when it is spoken, but is not able to use it on her own. What

would vou call this vocabulary?
1. Active vocabulary

2. Passive vocabulary
3. Difficult word

4, New word
Options :
1.1



2.2
3.3
4.4

Question Number : 119 Question Id : 953357490147 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Meena is able to recognize the word “envisage’ in a text or when it is spoken, but is not able to use it on her own. What

would vou call this vocabulary?
1. Active vocabulary

2. Passive vocabulary
3. Difficult word

4. New word
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357490148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of grammar learning?

1. Learning to use the grammar item in real life purposes.

12

Discovering the form through use in contexts.

3. Learning the rules of Grammar by mastering the rules of the language.
4. Using the form in contexts.

Options :

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 953357490148 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of grammar learning?

Learning to use the grammar item in real life purposes.

12

Discovering the form through use in contexts.

3. Learning the rules of Grammar by mastering the rules of the language.
4. Using the form in contexts.
Options :
1.1
2.2
3.3
4.4
Language 11
Section Id : 95335715288
Section Number : 4

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335727946
Question Shuffling Allowed : Yes

Question Id : 953357490149 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension

Treferfiae TerteT i UseRt T IO AT (74 ST | | 8 79F) F Te
TS FaeATeT! # ST F BIueree A S=4T ¥ I & —
TersrereT| ST A AR o, AT TR ot A AT T 270 T A g iR
TETET 1 T T 3 Toq0, o731 &A1) ST, STEAE R W § I
Torem i Fefe e B AT 2T AT FAHN FAT, TTEAH A Y
R = 97 SET & U2 EEer| 79 9E w7 e siferat &
I5H T WIS T AN 577 Y T I U € U SArtearE
TR AT § e SUTE a9 e, |ieft, foramm, Ter ware
T ST T STE Wied T S ¢ o 7 9 At i e e
2| IR T T TS B SR AT 2| 39 Fel i IAT SAEaTET
STl 5 T ToraT 1| et A1 ARe femenr o 1| e A
AT ST SATeT R T HTETH B T2, SaT S T § IeR T qT 8
T E IR G 1 S| (T || T SATEaTE J1d 9ereE %
TETy i, o 3o 3 e S qeE F e A

Sub questions

Question Number : 121 Question Id : 953357490150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T g
1. ST

FHET
3. femepem

4. T&IheTl
Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 122 Question Id : 953357490151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



o TR H T w0 H fohe Fersenrt i A o
0

[am—

.'Er‘?-:‘IDEﬁT
. B8

3. HeATFRT
4. IEAT

Options :
1.1
2.2
3.3
4.4

| ]

Question Number : 123 Question Id : 953357490152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR ST T AT & S —
1. TS
2. faferean

~

3. |ret
4. T

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357490153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T A AR & A AT AT W & HTeIH § 5O
AT 9T —

1. f==

4

3. 9ha

4. =@+
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357490154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

IR ST FE W T F o = oy 80
I, J=-TEE
2. T T S ST
3. W T

4. T



Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357490155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T AT IS T R
1. g

. IeTET

3. H

4. =T

(]

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357490156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T E e AR e
1. f==7 + 3=
2. AT+ FE
3. o+ o
4. e+
Options :
1.1
2.2

3.3
4.4

Question Number : 128 Question Id : 953357490157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR Tt 7 e geT -
. F s H A T
| ITTTESTET S & SR U
. STTFET % TR T
4. ST OO 3 ST O
Options :
1.1
2.2

3.3
4.4

| S I

Lad

Question Id : 953357490149 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



Treferigs TarieT i UEe TS T N7 (94 WA | ¥ 8 7F) F doE
Tt SaETel # STieatt T Teuere R a= § IuS A —
TerTahetT| Ty 27ew FET o, oy e ot o W ¥ ST e A gt o1
TATHT T Wb 0 o T ot apT) w7, <Tee fobg el @ W
Torem <t Hegart et 21 A 27T it TR e, TTEIH 6
TR B 9 32T T U | 7 9T i i st
T5H T WSS T AN 357 2| T U T U SArrearE
TR AT § =ITaH SUTE a1 §E, Hiefl, fomm, e waret w5
T ST & SAET Wied T ST € 16 9 S ATt i forer a5 e
2| I FooAT T W EY TEHT AR | T FAT I I AT
ST = I ToraT o) et A ARett femer ug 7| et amet
AT FT AT T A" B e, S e 1 T 9 90 A>T 2,
T FT T FHIS T S (T Y| IR ATt S g2 &
TeT e, e oo o P E s ges Fem A B

Sub questions

Question Number : 121 Question Id : 953357490150 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1 5= 2

1. wT§T
P
3. Toee

4. TRl
Options :
1.1
2.2
3.3
4.4

(]

Question Number : 122 Question Id : 953357490151 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T H e w0 W o e aois forar
2

[a—

.trsga#
. B8

3. FHoHEE
4, FRAT

Options :
1.1
2.2
3.3

]



4.4

Question Number : 123 Question Id : 953357490152 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AREAT T 1 AT & ST —
1. TSI
2. Tafstear

)

3. | et
4. TR

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357490153 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TG AT TE A AT A9 A o OTeT ¥ 59

TRIAT AT —

1. f==

3

3. Hehd

4. @4
Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357490154 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FARAT AN Ha | F= = Te70 7 Tl 27

b T

2. W T 2T I

3. W T

4. T

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357490155 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T HET IS TR R -
1. =i

2

. 3eTEt

]

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357490156 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e R E- AT 2
1. =37 + s
2. T+
3. o+ o
4. TR + 9
Options :
1.1
2.2

3.3
4.4

Question Number : 128 Question Id : 953357490157 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR T 7 e gerT -
T FEITE T
| ATESTET TS F IR W
. STTFET % TR T
4. T 9T F ATIR T
Options :
1.1
2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335727947
Question Shuffling Allowed : Yes

| S I

Lad

Question Id : 953357490158 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



TTeTTEs Tt 1 UG IO 0 AT (T4 AT 9-15) F T 3T
T offe @1E i are g 2 Sftes i e O @R e ¥ Iy
T B - U T EW S| SRR T ST T T = § o= T U
T @ 331 2| IO =0 %8 0 € T T8 o7 U2 Heed g6
fere 21 SheTT-hieTen & Weit 2| TSia= 21 1ferek s7He & 2ai 3a-1 &
<Tg AT - T AT B Sad 21 S A 8, IR Sfad o9 2

T TET TEe T e T I GeTaer Tl 39 W /W 9 &
o =1 g feeeTe oAt ST 2| ST e T et S99 & o v v S
778 1 AR 1 7 TR F) W7 F o wer e A s
T 3T o T S T 2| AR S A0 A % e

AT 57 AT 8] T TS W F WA TR T 3 s
Hr gar 2 ﬂ‘f&%qiﬂdt%%ﬁﬁ-@ﬁaﬁﬁﬂWﬁml g

Sub questions

Question Number : 129 Question Id : 953357490159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T ST ST FAT 2
1. gt

-

. TR
3. 59
3
4. TF~al
Options :
1.1
2.2

3.3
4.4

]

Question Number : 130 Question Id : 953357490160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

R ST S g Afre w2
|. =9 et ST T
2. g:@wﬁaﬁaﬁﬁ
3. == S arett

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 953357490161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T I T I el 741 2, TR —
1. == TITOTT ST 7T AT 2
2. E I AR T 1 AR 1 ATS THAT 2
. TE T T @A R
4. FEATTFFAFITTE
Options :
1.1
2.2

3.3
4.4

s

Question Number : 132 Question Id : 953357490162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TITST 3 T4 O §q150 3 261 & Hey o fom a1 &1
S T TR R —
|. 3= T
. 3= sgAm
3. 3t AT
4. 3f=a FETerar

Options :
1.1
2.2
3.3
4.4

(]

Question Number : 133 Question Id : 953357490163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=7 S T T 2 AT B
1. 27 3 e faet
2. FET A AT T TS
3. 9T SR EE T 9Tet
4. 2FT ¥ ST FH T IET
Options :
1.1
2.2

3.3
4.4

Question Number : 134 Question Id : 953357490164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YT T AT AN &
1. FHIRT

Options :



1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357490165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T8 T T B SO ST iRy Teg & -
1. TS
2. Ternfasmo
3. Fm
4. wfersrSor

Options :
1.1
2.2
3.3
4.4

Question Id : 953357490158 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension

TATeTTEs Tt 1 UG IO 0 AT (T4 AT 9-15) F FoH 3T
T ofteT @TE i are g 2 Sfes i e O o e ¥ oy
T B - U AR T o IRR S0 T ST § =0 @ U
AT @ 331 21 IO =0T e 0 € T T8 S71 U Feed gu
a2 wermtere | weit 2| e 21 et ot o g e A
w1 e gt o A A e 3 O E, s S e B
T TET TEe T e T I GeTaer Tl 39 W /W 9 &
T o1 o . 3T 2| SR U UHT YA 9 & 1o 36 31 AT
3@ 1 AR 1 31 TRl 8| TI0T-71 3 oI WaT W 9 A I
T 3T o T S T 2| AR S A0 A % e

ST T T 2| T TS WA o WIY-ATY T T 1 W
+ft 24T B T FT AT ¢ o6 SR1-gRI § T ST T B 0| w9

Sub questions

Question Number : 129 Question Id : 953357490159 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T ST ST FAT 2
1. &=t
. I
3. 59
b=]
4, TH=Al
Options :

]



1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 953357490160 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

R ST S g Afre w2
1. 299 3T AT
2, g:@mﬁaﬁaﬁ?ﬁr
3. EfUam I3 g

Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 953357490161 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
AT T TH T T T 8, FAAE —

1. = Tt ST T e 2

2. TE i S g T Eani w5 AT e
. T T T T 2

™ *

4 TEAEFEF I
Options :
1.1
2.2

3.3
4.4

T

Question Number : 132 Question Id : 953357490162 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST o ATIR T Sq150 o6 261 & e o fohd &1d &1
ST TG ST 2 —

{1

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357490163 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



=T I T T T AT R
|. =& AR e fae
2. AT 3R AT T WE
3. & SR T I

4. TET S S FE B EEE
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357490164 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
HTS-HTY T FHE FTAHE
I. T
I

]

4. 9UEY

w2
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357490165 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T8 T T B SO ST iR Teg B -
1. fasmor

3.

4. =S

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335727948
Question Shuffling Allowed : Yes

I~

Question Number : 136 Question Id : 953357490166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e fareT <Aifr 2020 F Tt AT S - FiE, A, T, I, T, T, QAT S w6 % T
_ FETH R R
1. BT E F AT E E
. ST aTETeT BT H
. AT U1 o &7 6 ¥ 5
4, BT [gFEH ATFHFECH

Options :
1.1
2.2
3.3
4.4

| ]

L8]

Question Number : 136 Question Id : 953357490166 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e famer =fifer 2020 F Tl werett Sw - it ST, o, S, S, S, gt o w6 oo
_ FEUHSEETHITE R
1. P e F AT EET A
. TSI WTTeT H ET
. ST TISFFH 3 T F T
4, IO AFEF ITFEIH

Options :
1.1
2.2
3.3
4.4

| ]

LS ]

Question Number : 137 Question Id : 953357490167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2T = e TaTaTeff AT TS % E F FAITe AT & A7 UF T F ] SqAed WIS 3 ST 71
U BTt % 3T 39 919 S Ued 91T 21 TR 2 9F TR B O S S 22

1. WTST 2AferT
2. TS 3T
3. WTST T ST

Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 953357490167 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AT 5 U ToTeefT qeTE WIS % T F AerTes H 9] 89U U a6 H BT § SUed HIST F S aul
T BT 3 5T S S 37 IR I B R B 9 e = S Srar 82
1. WTeT STy

D, WTST 37
3. HET=l 3\;:’_'-'-”
4. sﬁqmwwaﬁﬁusf&mm
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357490168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frferfes & 9 #9 9 31 Hige 1 J69 S 3 SFET 9 87
a. it o  &m ¥
b. Ffeat st stferms & awem wrer 2
C. FfeaT il T & G &7 =rey|

et vt 25 fem, g =A< e

badTc

addTb

addrd

4, cT4grd
Options :
1.1
2.2
3.3
4.4

b= a

LS

Question Number : 138 Question Id : 953357490168 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Freferfgs & & 19 9 a1 HigH 1 IEH GO % SE 9 87
a. Ffeat dia ¥ &7 F
b. feat waT StferT & awen wrer 7
C. = 1 T & G &7 A1)

Tt fevegept 3 ferw qmuTSOr ohT T e

bagrc

addar b

ad4rd

4, cT4grd
Options :
1.1
2.2

Lol o 1

LY ]



3.3
4.4

Question Number : 139 Question Id : 953357490169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

O HET  FAEEHE TR FEGH T A
1. T R o o, STt fea v s e
3. AT 3 HEHT 1 FEAT 4T A1 [ FAT
4. AT TEF T AT Y (T TR 5, F

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357490169 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST WG J FECF FHA P F T F AT 0T
1. T EiE % T evot gt s e
3. ST % T o1 HIGT 74T 18 F Jeedrad Fe
4, ST U § AT T T TR A 8,

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357490170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T FET

. Ta=rone= T
. TaeamuTens oEe
Options :

1.1

2.2

3.3
4.4

—

(]

Question Number : 140 Question Id : 953357490170 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e T FEH] T
1. =TT =T
. TaeImuTens oEe
3. FUNHTETF =&
Options :
1.1
2.2

3.3
4.4

]

Question Number : 141 Question Id : 953357490171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ST TTZTE] %1 T F TEHITRAT U T o €9 F 2
B %ﬂﬁaﬁﬁwaﬂmwamm%ﬁmmﬁvmm
. ST WTWTSAT 7 TS0 AT TST AT, e WRAig \TaT, I WTST, a2 et wrer st
z
3. TSt v =1 3T e = e etfi
4. TST FYT AT ST F T T ATGHTH HGA

Options :
1.1
2.2
3.3
4.4

[

Question Number : 141 Question Id : 953357490171 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST ST TTZTE] %1 T J TEHITRAT U 0T 3 €9 F 2
B %ﬂﬁaﬁﬁwaﬂmwmwmﬁwmﬁvmm
. T WTSTRAT 3T (a0 STTenTe T ATqTeT, STTefee S re T, SR | qey faew S atetew
z
3. TSt Sva =1 3T WTeTet o fereEr- st
4. TST FYT AT ST F T T ATGHTH HGA

Options :
1.1
2.2
3.3
4.4

[

Question Number : 142 Question Id : 953357490172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Treeff =1 % ¥ USTA ¥ [SRA §| @A % §9 SUNH F [ B H ST AT 27
1. 3918 390
2. TfeRaT U

-

3. ST Yo

3
4. AT oG
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357490172 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTeaeff #E  ¥Te USTAT ¥ [SRA ©| T % §9 SUNH F e B0 H ST AT 27
1. 3918 3ATTH
2. iRt ST

-

3. STT=IR 4Aerd

w3
4. ST TG
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357490173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T TTTEERT AU FHeT F AR F T H Aiedl 2| T8 oA WHE Fl Sua/Feen a6l & 9 W I de "ee
T e Frur o ek W et 3 W TR e
T T T T w5
I. TR wE
3. WETEE
4. gfEsATFE
Options :
1.1
2.2

3.3
4.4

| ]

Question Number : 143 Question Id : 953357490173 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T TR AT FHeT Fl ANAR F T H Siedl 2| T8 TeAT T Hl G9a/3ee ol g 5 W I de "EH
T T Fraie S eeh W et 3 W SR e 2
TH HTHfEe AT 1 37 ad 22
|. EwE
3. HETFE
4. g
Options :
1.1
2.2

3.3
4.4

(]

Question Number : 144 Question Id : 953357490174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Fr=ferftas g F vor w1 g =0 5 ST AT 8

T ST (5 Tah a1 5 o710 U T 2| o7 o 937 | 21t wiaanet i et 5 fafan)
|. T =
2. AfEaeH =@
3. ATFEHFUTF TE

4. TERTEH S
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357490174 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

r=ferftas va F vor w1 o =0 3 ST AT

T TS (5 Ua FEHT 7 A U T 2| o7 o <37 | 21t saeneAt # et 7 fata)
1. TarawoeTs wEA
2. WiEasH =T
3. FTTHFATHF @

4. TERTEH SET
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357490175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e % fememor-etfenms =1 9T Seva 7 -
1. TTHE TUT BEAT FAT
2. ST =@ 1 FeAT HET
3. WTST ST
4. SITFAUT TUT TTeeTaeAT HigAT

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357490175 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e 3 famamor-e1ferms =1 g7 eva 7 -
1. STHE TUT FEEAT FAT
2. SIS ST T FeAT g
3. W S
4. SHTEROT AT TTEaTIeAT |IEHT

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357490176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T F e I e @ enfa R S A v S e v R w FE TR R
|. 79T =5 =UT 1 ST
2. TS T IEAT 3 AL T AT
3. WTST % WY FEAAT

4. TST T A
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357490176 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTST T T 3 T ¥ e e B I AT S T ST S WY T F T E
|. 79T o =T 1 ST
2. THT ST IEAT oF AT AR AT
3. WT9T % WY HeAHAT

4. WTSTH AT
Options :
1.1
2.2




3.3
4.4

Question Number : 147 Question Id : 953357490177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T “STHTTOTR W3- A E —

|. UTEE-TE % S@F 3N [T TS UG- A T e
2. e H I TE 7 urgg- A

3. HifeTen TRES § UTS: TR J ST 78 TEF-a
4. Tareneff 317 vEw F %F w0 H fordt 78 wEET @A =
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357490177 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS “SITHTTOTR WA € —

. UT3E-T5% % S@ G [T TS UG- A T e
2. e § I T3 9 ureg- |t

3. THTeTSh TIEE ¥ qUTE: TUE & ST T g d-a
4. Tarsanef g vew 4 % w0 H fordt 8 wEET o =
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357490178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ST S S SOISUTTenes Hiwrer (BICS) Faiee & —
1. T TSI T WA % o T a7 31 STavarehal el ©
. =T ZT SN 3 ToTT WISt i ofavaskar 2t
. UTET EHNOT 3 Torw et it SAEvashar vt
4. HOUTTeReR T f3eqor
Options :
1.1
2.2

3.3
4.4

(=)

L

Question Number : 148 Question Id : 953357490178 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AT S A ehah HISUTeHa: Hieret (BICS) Fafem & —
. TR TerT ot W ot 36 oA, e o AT B &
. T T SWON0T 3 o7 Wi S AT 2t 2
3. UET HINOT 3 T WTST St AT B B
4. HUSOTTESS STST f3reqor
Options :
1.1
2.2

3.3
4.4

[a—

B

Question Number : 149 Question Id : 953357490179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST HETT & —
1. Terenfen Frsuafea F o= g

. FT Y et Fr A w A A o
3. I FEYUT YT AT AR 1 AT
4. Torsqreff it e w=roraT =5 OO

Options :

1.1

2.2

3.3
4.4

(=]

Question Number : 149 Question Id : 953357490179 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTHT-3TToheT ST & —
1. Torefeat i su=fer F o= &
. e o Tareqriedat i At U EA
3. I WU LA AT AR F1 G
4. Tameaneff St syram w=ftoraT w0 qOw

Options :
1.1
2.2
3.3
4.4

[

Question Number : 150 Question Id : 953357490180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

YT W F EtA oy e ;e

o TS ST ST T W e B

. STERTIT, FEERT, ST SATE]

. Tt A g et @
4. WS TS S AT W S 2

Options :

1.1

|

Lad



2.2
3.3
4.4

Question Number : 150 Question Id : 953357490180 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

QTS FTHIT o FE T W77 5 | e

I e S T T W =

. STeRTIE, TSN, ST TS

T e ST RSt T TR
4. ST T S AT W S e

Options :

1.1

2.2

3.3
4.4

| R I
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